Week 7, Day 1
Multiply and divide decimals by 10, 100 and 1000.

Each day covers one maths topic. It should take you about 1 hour or just a little more.

1. Start by reading through the Learning Reminders.
They come from our PowerPoint slides.

m We can write 2/; > %/, We can write */; <%/,

2. Tackle the questions on the Practice Sheet. e —
There might be a choice of either Mild (easier) or
Hot (harder)!
Check the answers.
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3. Finding it tricky? That’s OK... have a go with a
grown-up at A Bit Stuck?

4. Think you’ve cracked it? Whizzed through the Practice Sheets?
Have a go at the Investigation...
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Learning Reminders

Multiply and divide by 10, 100 and 1000.
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We can use a place value grid to multiply 4.52 x 10, then 4.52 x 100, then 4.52 x 1000.

When we multiply by
10, 100 and 1000, the
digits all move
together, 1,2, or 3
place value columns
to the left.
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Learning Reminders

Multiply and divide by 10, 100 and 1000.
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We can use a place value grid to divide 2340 = 10, then 2340 = 100, then 2340 = 1000.

When we divide by
10, 100 and 1000, the
digits move together,
1, 2, or 3 place value
columns to the right.

The final zero is not
needed after the
decimal point.

But be careful with
numbers like 507
where the zero is not
at the end:

507 =100 =

5.07 NOT 5.7
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Practice Sheet Mild
Multiply and divide by 10, 100 and 1000

245 x 10 245 x 100 245 + 10 245 = 100

543 x 10 543 x 100 543 + 10 543 + 100

347 x 10 3.47 x 100 3.47 x 1000

7640 + 10 7640 = 100 7640 + 1000
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Practice Sheet Hot
Multiply and divide by 10, 100 and 1000

347 x 10 3.47 x 100 3.47 x 1000

7640 = 10 7640 + 100 7640 + 1000

845 x = 845,000 845 + =845

x 10 =36.2 + 100 =362
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Challenge
Write your own chain of at least four steps which starts and ends on the same number, like Section G. j
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Practice Sheets Answers

Muitiply and divide by 10, 100 and 1000 (mild)
245 x 10 = 2450 245 x 100 = 24500 245 + 10 =245
245 + 100 = 245
543 x 10 =543 543 x 100 = 5430 543 +10=543
543 + 100 = 0543
347 x 10=347 347 x 100 = 347 3.47 x 1000 = 3470
7640 - 10 =764 7640 - 100=76.4 7640 = 1000 = 7.64
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Multiply and divide by 10, 100 and 1000 (hot)

6 H V @& ¥ &

347 x 10 =347 3.47 x 100 = 347 3.47 x 1000 = 3470
7640 = 10 = 764 7640 = 100 = 76.4 7640 = 1000 = 7.64

A
B
C 845 x 1000 = 845000 845 +100=28.45
D 362x10=362 362+ 100 = 36.2
E

245 x 10 + 100 x 1000 + 100 = 24.5
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A Bit Stuck?
Multiplying and dividing by 10 and 100

34x 10 34 x 100

34x10 3.4x 100

650 + 10 650 + 100
72+ 10 7+ 10

800 + 100 80 + 100

4.5XD=45 4.5xD=450
270+D=2.7 270 +D=27
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A Bit Stuck?
Answers

Multiplying and dividing by 10 and 100
34 x 10 =340 34 x 100 = 3400
3.4x10=34 3.4 x 100 =340
650 + 10 = 65 650 + 100 = 6.5
72+10=7.2 7+10=0.7
800 +100=38 80+100=0.8
4.5x10=45 4.5x 100 =450
270+ 100=2.7 270+ 10=27
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3.6 x10x 10 =360 940+10+10=94 72 x10+100=7.2

® H V @& ¥ & 6 H V & ¥ &8 o EH V o «»

|
*
®
|
|
o
e
x
®
|
|
[

® H A & x o
6 H V @& ¥ &

© Hamilton Trust. Explore more Hamilton Trust Learning Materials at https://wrht.org.uk/hamilton

A & x o 06 H A & x o
vV @€ ¥ &8 6 1 VvV @ ¥

® H A & » © 06 H A & x ¢ © HEH A & x o © E A o



(L+?¢Xcm31/1-‘.-g <m2a—°/o4%—cm?)(‘—.

/

\c F ? = X cm h + ¢ > m x % < m ? x

* A
. Investigation
. Find my route
Investigate routes through a grid, multiplying and dividing by 10, 100 or 1000
A
e Starting with 435 trace a route through the grid, moving horizontally or
o vertically between boxes.
Example
o e What outcome do you get? Record it. Start at 435
= move right,
. e Try another route.
1S move down,
Q
e What outcome do you get? Record it. move down,
x move down,
W e Try at least 4 different routes through the move right...END
grid 435 = 100 x 10 x 100
o\
+10x 10 = 4350
N e How many different outcomes can you find?
- Investigate
£
© o What are the smallest and largest possible outputs?
|
o Does the longest path have the largest output?
=
N e Now choose a different 3-digit starting number.
o
X
e
A ( Challenge |
\
Draw a route on the grid. If we follow this, what single calculation can replace all
w those we do en-route?
Answer the calculations to check.
A Repeat with another route.
= -
& What if diagonal moves were allowed?
o — I
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Investigation Resource Sheet
435 =100 x 10 x 10
+10 x 10 x 100 =100
+10 x 100 =100 x 10
x 10 + 10 x 10 END
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